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BINOMIAL DISTRUTION

Example

1. 25% of the inhabitnts in a large town are bespectacled. What is

the probability that a randomly selected group of 6 inhabitants will

include at most 2 bespectacled pesons?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_k2fMeWeYYOfu


2. The incidence of occupational disease is such that on the

average 20% of workers suffer from it. If 10 workers are selected at

random, find the probability that 

exactly 2 workers suffer from the disease.

Watch Video Solution

3. The incidence of occupational disease is such that on the

averatge 20% of workers suffer from it. If 10 wrkers are selected at

random, find the probability that 

not more that 2 workers suffer from the disease.

Watch Video Solution

4. If the probability of success in a single trial is , how many

Bernoulli trials must be performed in, order that the probabiliy of

0.05

https://dl.doubtnut.com/l/_IUzHmsGAYiFq
https://dl.doubtnut.com/l/_px5ITUiZRQFD
https://dl.doubtnut.com/l/_RavbXtmdTlFy


at least one success is  or more.

Watch Video Solution

2

3

5. M and E are two equally strong football teams. what is the

probability that M beats E in exactly 5 games out of 8.

Watch Video Solution

6. M and E are two equally strong football teams. what is the

probability that E beats M in at least 2 games out of 4.

Watch Video Solution

7. What is the probability that in a family of 4 children there will be

at least one boy ?

W t h Vid S l ti

https://dl.doubtnut.com/l/_RavbXtmdTlFy
https://dl.doubtnut.com/l/_gFuZpUiqTmXe
https://dl.doubtnut.com/l/_LCG0Va5ml6hJ
https://dl.doubtnut.com/l/_BQULKfgk8c2N


Watch Video Solution

8. Find the probability that in a family of 4 children there will be at

least 1 boy and 1 girl.

Watch Video Solution

9. An unbiased coin is tossed 6 times .Find using binomial

distribution , the probability of getting at least 5 heads .

Watch Video Solution

10. Eight balanced coins are thrown simultaneously. Find the

probability of getting 

Exactly 3 heads.

Watch Video Solution

https://dl.doubtnut.com/l/_BQULKfgk8c2N
https://dl.doubtnut.com/l/_puuJcflpQQzu
https://dl.doubtnut.com/l/_XM1PlLb1gp7D
https://dl.doubtnut.com/l/_1zY9g33Mp661


11. Eight balanced coins are thrown simultaneously. Find the

probability of getting 

at least 3 heads.

Watch Video Solution

12. Eight balanced coins are thrown simultaneously. Find the

probability of getting 

not more than 3 heads.

Watch Video Solution

13. Determine the binomial distribution whose mean is 9 and

variance is 6.

Watch Video Solution

https://dl.doubtnut.com/l/_1zY9g33Mp661
https://dl.doubtnut.com/l/_HOzP57gW7QEP
https://dl.doubtnut.com/l/_gNQHyPoFyhfp
https://dl.doubtnut.com/l/_iCz4Ku3phB13


14. If X follows a binomial distribution with mean 3 and varience ,

find 

.

Watch Video Solution

3

2

P (X ≥ 1)

15. If X follows a binomial distribution with mean 3 and varience ,

find 

.

Watch Video Solution

3

2

P (X ≤ 5)

16. For a binomial distribution, the mean and S.D. are respectively 4

and . Calculate the probability of getting a non-zero value from

this distribution.

W t h Vid S l ti

√3

https://dl.doubtnut.com/l/_iCz4Ku3phB13
https://dl.doubtnut.com/l/_7GEEX3VaZy0R
https://dl.doubtnut.com/l/_Tn2yOWZZ2ozJ
https://dl.doubtnut.com/l/_t0v7tDA3PPHf


Watch Video Solution

17. Show that the standard deviation of a binomial distribution

cannot exceed .

Watch Video Solution

√n

2

18. In a binomial distribution consisting of 5 independent trials,

probabilities of 1 and 2 successes are 

respectively. Find the parameter p of the distribution.

Watch Video Solution

0.4096  and 0.2048

19. If the sum of the mean and variance of a binomial distribution

for 5 trials is ; find the distribution.

Watch Video Solution

1.8

https://dl.doubtnut.com/l/_t0v7tDA3PPHf
https://dl.doubtnut.com/l/_QU9zl8wjpiLC
https://dl.doubtnut.com/l/_QmE4YW02aERy
https://dl.doubtnut.com/l/_WAHRvPMpKvFw


20. An unbiased die is thrown again and again until three sixes are

obatined. Find the probability of obtaining third six in the sixth

throw of the die.

Watch Video Solution

21. What is the probability if guessing correctly at least six of the

ten answers in a TRUE-FALSE objective test ?

Watch Video Solution

22. The following statement cannot be true-why? "The mean of a

binomial distritution is 4 and the standard deviation is 3."

Watch Video Solution

https://dl.doubtnut.com/l/_WAHRvPMpKvFw
https://dl.doubtnut.com/l/_VleUUSTXsJuN
https://dl.doubtnut.com/l/_Xf0ihMUwwnSC
https://dl.doubtnut.com/l/_hwed79awGM1H
https://dl.doubtnut.com/l/_8dG9XW10q1SF


Mcq

23. Five coins are tossed 3200 times. Find the expected frequencies

of the distribution of heads and tails, and tabulate the result.

Calculate the mean number of heads and standard deviation.

Watch Video Solution

1. The parameters of binomial distibuton are

A. n,p,q

B. p,q

C. n,q

D. None of these

Answer: D

W h Vid S l i

https://dl.doubtnut.com/l/_8dG9XW10q1SF
https://dl.doubtnut.com/l/_pbNMfe7TTuKB


Watch Video Solution

2. The mean of a binomial distribution with parameters n and p is

A. np

B. 

C. 

D. 

Answer: A

Watch Video Solution

n(1 − p)

(n + 1)p

(n − 1)p

3. The variance of a binomial distribution with parameters n and p

is

A. >
n

4

https://dl.doubtnut.com/l/_pbNMfe7TTuKB
https://dl.doubtnut.com/l/_Hsg4agfal9D8
https://dl.doubtnut.com/l/_iRanOsFSvzmc


B. 

C. 

D. 

Answer: B

Watch Video Solution

≤
n

4

>
n2

4

≤
n2

4

4. The S. D of a binomial distribution with parameters n and p is

A. np

B. 

C. 

D. 

Answer: C

Watch Video Solution

√np

√np(1 − p)

2√np

https://dl.doubtnut.com/l/_iRanOsFSvzmc
https://dl.doubtnut.com/l/_v8xUkKIaxySt


Watch Video Solution

5. The probability of a man hitting a target is . How many times

must he fire so that the probability of his hitting the target at least

once is greater than ?

A. 4

B. 5

C. 6

D. greater than 4

Answer:

Watch Video Solution

1

4

2

3

6. A coin is tossed n times. The probability of getting head at least

once is more than 0.8 , then the value of n is

https://dl.doubtnut.com/l/_v8xUkKIaxySt
https://dl.doubtnut.com/l/_QdyM3SzYBIC6
https://dl.doubtnut.com/l/_zy3w8AzY2S81


A. 2

B. 3

C. 4

D. 5

Answer:

Watch Video Solution

7. In a precision bombing attack, there is a 50% chance that any

one bomb will strike the target. Two direct hits are required to

destory the target completely. The number of bombs which should

be dropped to give a 99% chance or better of completely

destroying the target can be

A. 12

B. 11

https://dl.doubtnut.com/l/_zy3w8AzY2S81
https://dl.doubtnut.com/l/_0xVZOVIhpNaB


C. 10

D. 13

Answer: A::B::D

Watch Video Solution

8. A fair coin is tossed 99 times. Let X be the nunber of times head

occurs. Then P(X=r) is maximum when r is

A. 49

B. 52

C. 51

D. 50

Answer: A::D

Watch Video Solution

https://dl.doubtnut.com/l/_0xVZOVIhpNaB
https://dl.doubtnut.com/l/_kMs7UdljmJ0K


Very Short Answer Type Questions

9. If X follows a binomial distribution with parameters n=101 and

 the P(X=r) is maximum if r equals

A. 34

B. 33

C. 32

D. 31

Answer: A::B

Watch Video Solution

p =
1

3

https://dl.doubtnut.com/l/_kMs7UdljmJ0K
https://dl.doubtnut.com/l/_euGCT194H4ND


1. Write down the probability distribution, mean and variance of a

binomial distribution.

Watch Video Solution

2. Let x be a binomily destributed random variable with parameters

n and p. For what value of p is Var(x) a maximum, if you assume

that n is fixed.

Watch Video Solution

3. In each case determine wheather the given values can be looked

upon as the values of a probability distribution of a random

variable which can take up only the values 1,2,3 and 4 and explain

your answer : 

.f(1) = 0.26, f(2) = 0.26, f(3) = 0.26, f(4) = 0.22

https://dl.doubtnut.com/l/_N7JcEUEO3KPV
https://dl.doubtnut.com/l/_8UhwHprs2WIy
https://dl.doubtnut.com/l/_5EZm07b48avs


Watch Video Solution

4. In each case determine wheather the given values can be looked

upon as the values of a probability distribution of a random

variable which can take up only the values 1,2,3 and 4 and explain

your answer : 

.

Watch Video Solution

f(x) =
x + 1

4

5. A student obtained the following results.Comment on the

accuracy of his results : 

for a binomial distribution, mean=16 and S.D=4.

Watch Video Solution

https://dl.doubtnut.com/l/_5EZm07b48avs
https://dl.doubtnut.com/l/_EGawwyemcbpw
https://dl.doubtnut.com/l/_fkOU67bqkifF


6. A student obtained the following results.Comment on the

accuracy of his results : 

for a binomial distribution, mean=4 and variance =3.

Watch Video Solution

7. Seven unbiased coins are tossed simultaneously at random. Find

the probability of getting 

exactly two tails.

Watch Video Solution

8. Seven unbiased coins are tossed simultaneously at random. Find

the probability of getting 

at most two tails

Watch Video Solution

https://dl.doubtnut.com/l/_nCLjyvP6Th5u
https://dl.doubtnut.com/l/_Nnyq8OcgeAJf
https://dl.doubtnut.com/l/_alX51xhEsBdi


9. Seven unbiased coins are tossed simultaneously at random. Find

the probability of getting 

at least two tails.

Watch Video Solution

10. Eight coins are thrown simultaneously. Show that the

probability of getting at least 6 heads is .

Watch Video Solution

37
256

11. An unbiased coin is tossed 8 times. Find using binomial

distribution, the probability of getting at least 3 heads.

Watch Video Solution

https://dl.doubtnut.com/l/_alX51xhEsBdi
https://dl.doubtnut.com/l/_myR7cUw3NpUR
https://dl.doubtnut.com/l/_J49bQRuiCJlg
https://dl.doubtnut.com/l/_Ifngzpv8OnkT


12. Six coins are tossed simultaneously. Find the probability of

getting 

3 heads.

Watch Video Solution

13. Six coins are tossed simultaneously. Find the probability of

getting 

no head.

Watch Video Solution

14. Six coins are tossed simultaneously. Find the probability of

getting 

at least one head.

Watch Video Solution

https://dl.doubtnut.com/l/_A474L3Oy7QE2
https://dl.doubtnut.com/l/_4lqmEJ2KQ4jV
https://dl.doubtnut.com/l/_HT50iT96O4hC


15. Six coins are tossed simultaneously. Find the probability of

getting 

not more than 3 heads.

Watch Video Solution

16. Find the probility that in a family of 5 children there will be 

at least one boy.

Watch Video Solution

17. Find the probility that in a family of 5 children there will be 

at least one boy and one girl.

Watch Video Solution

https://dl.doubtnut.com/l/_HT50iT96O4hC
https://dl.doubtnut.com/l/_UK1tNS1DruoY
https://dl.doubtnut.com/l/_CNhAOHEzQEwK
https://dl.doubtnut.com/l/_90AKRmdqPOWH


18. The mean and variance of a binomial distribution are 4 and 3

respectively. Find the values of its parameters.

Watch Video Solution

19. Find the probability of guessing correctly at least 5 of the eight

answers in a True-False objective test.

Watch Video Solution

20. If a fair is tossed 10 times, find the probability of 

exactly six heads.

Watch Video Solution

https://dl.doubtnut.com/l/_c4r1U2Y2Ht6Q
https://dl.doubtnut.com/l/_AQYUclfuL9ZI
https://dl.doubtnut.com/l/_MyGseUTShrO0


21. If a fair is tossed 10 times, find the probability of 

at least six heads.

Watch Video Solution

22. If a fair is tossed 10 times, find the probability of 

at most six heads.

Watch Video Solution

23. Five cards are drawn successively with replacement from a well-

shuffled deck of 52 cards. What is the probability that 

all the five cards are spades?

Watch Video Solution

https://dl.doubtnut.com/l/_iwqFK4p4Xkyi
https://dl.doubtnut.com/l/_Kf4SnRgrivf6
https://dl.doubtnut.com/l/_MKjH6KnhT8CD


Short Answer Type Questions

24. Five cards are drawn successively with replacement from a well-

shuffled deck of 52 cards. What is the probability that 

only 3 cards are spades?

Watch Video Solution

25. Five cards are drawn successively with replacement from a well-

shuffled deck of 52 cards. What is the probability that 

none is a spade?

Watch Video Solution

1. If a variable is binomially distributed , determine its mean and

variance and S.D.

https://dl.doubtnut.com/l/_bXClh2bpG2We
https://dl.doubtnut.com/l/_dlJwhl4SSbqf
https://dl.doubtnut.com/l/_RpvoTkO7dosp


Watch Video Solution

2. Obtain the variance of a binomial distribution and show that the

variance cannot exceed .

Watch Video Solution

n

4

3. Calculate the mean and variance of a binomial distribution and

hence show that .

Watch Video Solution

v < m

4. Prove that the variance of a binomial distribution cnnot be

greater than its mean.

Watch Video Solution

https://dl.doubtnut.com/l/_RpvoTkO7dosp
https://dl.doubtnut.com/l/_mmcWjnAcTfHk
https://dl.doubtnut.com/l/_0yvKCYCz7pIq
https://dl.doubtnut.com/l/_4PUfywGFg832


5. 5% of the electric values are defective. 10 values are drawn at

random. Find the probability that at least two defective values are

found.

Watch Video Solution

6. If X follows a binomial distribution with mean 4 and variance 2,

find .

Watch Video Solution

P (X ≥ 5)

7. The mean and variance of a binomial distribution are 4 and 

respectively. Find the .

Watch Video Solution

4
3

P (X ≥ 1)

https://dl.doubtnut.com/l/_w3H42GgMNNqf
https://dl.doubtnut.com/l/_0yr7j35SMo72
https://dl.doubtnut.com/l/_oNYqilmct1LG


8. Find the binomial distribution for which the mean and variance

are 12 and 3 respectively.

Watch Video Solution

9. The probability that a student entering a university will gradute

is 0.4. Find the probability that out of 3 students of the university 

none will gradute.

Watch Video Solution

10. The probability that a student entering a university will gradute

is 0.4. Find the probability that out of 3 students of the university 

only one will gradute.

Watch Video Solution

https://dl.doubtnut.com/l/_8YuSbDeLj4DT
https://dl.doubtnut.com/l/_76xoqyDpcBpg
https://dl.doubtnut.com/l/_15gVEDJV2Fvf


11. The probability that a student entering a university will gradute

is 0.4. Find the probability that out of 3 students of the university 

all will gradute.

Watch Video Solution

12. The probability of a bomb hitting a target is 0.2. Two direct hits

are necessary to destroy a bridge. If six bombs are aimed at the

bridge, find the probability that the bridge is destroyed.

Watch Video Solution

13. The probability of success in a single trial of a random

experiment is constant and the trial is repeated inependently

seven timed, if the probability of 4 successes is equal to 3

https://dl.doubtnut.com/l/_0Je8XjcZzB8B
https://dl.doubtnut.com/l/_9sHMjIpEKghG
https://dl.doubtnut.com/l/_KDivKTZgQAci


successes, find the probability of 3 successes in 5 independent

trials of the experiment.

Watch Video Solution

14. A random variable X follows binomial distribution with mean 3

and stanard deviation . Find the values of P(X=2) and .

Watch Video Solution

√2 P (X ≤ 1)

15. A random variable follows binomial distribution with mean 4

and standard deviation . Find the probability of assuming non-

zero value for the variate.

Watch Video Solution

√2

https://dl.doubtnut.com/l/_KDivKTZgQAci
https://dl.doubtnut.com/l/_rViDfMThDqw2
https://dl.doubtnut.com/l/_Gp3jlrmHjuIq


16. Five percent of the articles produced by a machine are defective.

Find the mean and S.D in a lot of 100 articles.

Watch Video Solution

17. If the probability of a defective bolt is , find 


mean

Watch Video Solution

1

10

18. If the probability of a defective bolt is , find 


variance for the distribution of defective bolts in a total of 400.

Watch Video Solution

1

10

https://dl.doubtnut.com/l/_W68x0NR8ohfP
https://dl.doubtnut.com/l/_CBuxBMomev6f
https://dl.doubtnut.com/l/_UvVmnHyz1VUO


19. If the mean and variance of a certain binomal distribution are 4

and 3.2 respectively, find the probability of at least one success.

Watch Video Solution

20. A binomial random variable X satisfies the relation

9P(X=4)=P(X=2) when n=6. Find the value of the parameters p.

Watch Video Solution

21. Five unbiased dice are thrown together 96 times. Find the

expected frequencies when throwing 1,2 or 3 is regarded as a

success.

Watch Video Solution

https://dl.doubtnut.com/l/_CcECb31slJaW
https://dl.doubtnut.com/l/_ol86WbqAybcP
https://dl.doubtnut.com/l/_Bb56h9ScEILj


22. Eight coins are tossed at a time for 256 tiems. Find the

expected frequencies of the distribution of heads and tails and

tabulate the result. Calculate the mean number of heads and

standard deviation.

Watch Video Solution

23. The overall percentage of failures in a certain examination is 40.

What is the probability that out of a group of 6 candidates at least

4 passed the examination?

Watch Video Solution

24. 4 coins are tossed at a time. What is the probability that there

are 2 heads and 2 tails?

Watch Video Solution

https://dl.doubtnut.com/l/_bGQYf7IHUXbo
https://dl.doubtnut.com/l/_ayNVVOHgAGhE
https://dl.doubtnut.com/l/_63M0zB0N0GTB


25. In a basket, it is known that 1 out of 5 eggs are rotten. 18 eggs

are selected randomly. Find the probability that there are exactly 3

rotten eggs. Again find the probability that there are exactly 4

rotten eggs. Which one is greater ?

Watch Video Solution

26. 5% of the electric values are defective. 10 values are drawn at

random. Find the probability that at least two defective values are

found.

Watch Video Solution

27. The incidence of occupational desease in an industry is such

that the workers have a 20% chance of suffering from it. What is

https://dl.doubtnut.com/l/_63M0zB0N0GTB
https://dl.doubtnut.com/l/_4nIpXuNkSnwY
https://dl.doubtnut.com/l/_I4SXgTH1ztOM
https://dl.doubtnut.com/l/_1nIiStyv9cwj


the probability that out of six workers 4 or more will catch the

disease?

Watch Video Solution

28. If the probability of success in a single trial is , how many

Bernoulli trials must be performed in, order that the probabiliy of

at least one success is  or more?

Watch Video Solution

0.01

1

2

29. Suppose that half the population of a town are consumers of

rice. Each of 100 investigators interviews 10 individualas to see

wheather they are consumers of rice. How many investigators do

you expert to report that three or more but less than six people

are consumers of rice?

Watch Video Solution

https://dl.doubtnut.com/l/_1nIiStyv9cwj
https://dl.doubtnut.com/l/_0KI0KYeL6XMr
https://dl.doubtnut.com/l/_YiQWapFsUCpL


Integer Answer Type

30. In 10 independent throws of a defective die, the probability that

an even number will appear 5 times is twice the probability that an

even number will appear 4 times. Find the probability that an even

number will not apper at all in 10 independent throws of the die.

Watch Video Solution

1. A die is tossed thrice. Getting an even number is considered as

success, the variance of the binomial distribution is , then K

equals to

Watch Video Solution

3

k

https://dl.doubtnut.com/l/_YiQWapFsUCpL
https://dl.doubtnut.com/l/_tJ0wzAgWKKxQ
https://dl.doubtnut.com/l/_Sp4rOyiaGxN9


2. If x follows binomial distribution with mean 4 and variance 2. The

value of  is . What will be the value of K?

Watch Video Solution

P (|X − 4| ≤ 2)
119

16k

3. The value of expection of the number of heads in 15 tosses of a

coin is . The value of K will be

Watch Video Solution

15

k

4. If for a binomial distribution


in terms of 

Watch Video Solution

P (X = 1) = P (X = 2) = α,  write P (X = 4) α.

https://dl.doubtnut.com/l/_nWGXacE39SPq
https://dl.doubtnut.com/l/_VZ1CEXYGSROS
https://dl.doubtnut.com/l/_0U689ob0rA4S


Comprehension Type

5. The expected number of boys in a family with 8 children,

assuming the sex distribution to be equally probable, is n. Find n.

Watch Video Solution

1. The probability that a bulb produced by a factory will fuse after

150 days of use is 0.05. 

The probability that out of 5 such bulbs not more than one will

fuse after 150 days of use is

A. 

B. 

C. 

D. 

( )
45

5

19

20

( )
46

5

19

20

( )
4

3

5

19

20

( )
4

4
5

19

20

https://dl.doubtnut.com/l/_zw0j3uQmRyED
https://dl.doubtnut.com/l/_V9FmpG64C0wp


Answer: B

Watch Video Solution

2. The probability that a bulb produced by a factory will fuse after

150 days of use is 0.05. 

The probability that out of 5 such bulbs more than one will fuse

after 150 days of use is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 − ( )( )
46

5

19

20

1 − ( )( )
43

5

19

20

1 − ( )( )
4

7

9

19

20

1 − ( )( )
42

5

19

20

https://dl.doubtnut.com/l/_V9FmpG64C0wp
https://dl.doubtnut.com/l/_A89lpyzWPtwi


3. The probability that a bulb produced by a factory will fuse after

150 days of use is 0.05. 

The probability that out of 5 such bulbs at least one will fuse after

150 days of use is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 − ( )
419

20

1 − ( )
3

19

20

1 − ( )
219

20

1 − ( )
5

19

20

4. A person buys a lottery ticket in 50 lotteres, in each of which his

chance of winning a prize is . 

1

100

https://dl.doubtnut.com/l/_K7bkUSk8DNFC
https://dl.doubtnut.com/l/_vBI8dnBsCNqu


What is the probability that he will win a prize at least once?

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

1 − ( )
50

98

100

1 − ( )
50

97
100

1 − ( )
5099

100

5. A person buys a lottery ticket in 50 lotteres, in each of which his

chance of winning a prize is . 


What is the probability that he will win a prize exactly once?

A. 

B. 

1

100

( )
49

1
2

99

100

( )
501

2

99

100

https://dl.doubtnut.com/l/_vBI8dnBsCNqu
https://dl.doubtnut.com/l/_fZuJpW2wTSVb


C. 

D. None of these

Answer: A

Watch Video Solution

( )
481

2

99

100

6. A person buys a lottery ticket in 50 lotteres, in each of which his

chance of winning a prize is . 


What is the probability that he will win a prize at least twice?

A. 

B. 

C. 

D. None of these

Answer: A

1

100

1 −
9949 × 149

(100)50

1 −
9950 × 149

(100)
49

1 −
9950 × 150

(100)49

https://dl.doubtnut.com/l/_fZuJpW2wTSVb
https://dl.doubtnut.com/l/_uidTr7JajRp3


Assertion Reason Type

Watch Video Solution

1. Statement-I: Under some condition in the random experiment, p

and q are the probability of 'success' and probability of 'failure'

respectively, then the probability for x success is

 


Statement-II: Sample space of a random experiment has only two

sample points one is success and other is failure.

A. Statement I is True, Statement II is True, Statement II is a

correct explanation for Statement I

B. Statement I is True, Statement II is True, Statement II is not a

correct explanation for Statement I

C. Statement I is True, Statement II is False.

f(x) =n Cxpxqn − x(x = 0, 1, 2, ......, n)

https://dl.doubtnut.com/l/_uidTr7JajRp3
https://dl.doubtnut.com/l/_ybD9zato4g4Q


D. Statement I is False, Statement II is True.

Answer: A

Watch Video Solution

2. If random variable x satisfying binomial distribution and its

probability distribution

Statement I:  


Statement II: .

A. Statement I is True, Statement II is True, Statement II is a

correct explanation for Statement I

B. Statement I is True, Statement II is True, Statement II is not a

correct explanation for Statement I

C. Statement I is True, Statement II is False.

f(x),  thenf(x) =n Cxpxqn − x(x = 0, 1, 2, ......, n)  and x̄ = E(x)

E(x2) = n(n − 1)p2 + np

E(x) = np

https://dl.doubtnut.com/l/_ybD9zato4g4Q
https://dl.doubtnut.com/l/_preol75YDT5O


D. Statement I is False, Statement II is True.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_preol75YDT5O

